EIPH2
EIPH3
EIPH6

INTERNAL GEAR
PUMPS

¢ new Generation IPH
new technology

e up to 400 bar

e industrial version

e cast iron housing

¢ noise-optimized

¢ multi-flow-pumps
with common
suction port

Photo: Trumpf

ECHKERLE

HYDRAULIC DIVISION



Internal gear pump

Type EIPH2 high pressure pump
with constant displacement volume

Characteristics

e Internal gear pump with axial and
radial gap compensation

e Radial compensation with segments

e Suction and pressure port radial

e Field of application: Industrial hydraulic
* Low noise

e Long time life

e Low pulsation (pressure pulsation ~ 2%)
e Multi flow combinations

Technical Data:

Rated Size NG

Spec. volume Vth [cm*/rev.]***

Continuous operating pressure [bar]**
Peak operating pressure [oar]max.10sec.15% dutycycle*
Cut-in pressure peak [bar]**

Max. speed [rpm]

Nominal speed [rpm]

Operating viscosity [mm2/s]

Starting viscosity [nm?/s]

Operating medium

Max. medium temperature [°C]

Min. medium temperature [°C]

Max. ambient temperature [°C]

Min. ambient temperature [°C]

Max. admission pressure (intake side) [bar]
Min. admission pressure (intake side) [bar]
Weight appr. [kg]

Degree of filtration

Efficiency nvol
Efficiency nhm

Pump noise*
(measured in sound chamber) dB[A]

004 005 006
38 | 54 | 64
330
350
400
4,200
400 - 4,000
49 | 49 | 5.0 |

90 91 92
88 90 90

53 54 55
n=1450 Ap=250bar

008
7.9

011
10.9

013
13.3

016
15.8

400 - 3,600
10 - 300
2,000
HL — HLP DIN 51 524 part 1/2
80
-20
80
-20
2 bar absolute
0.8 bar absolute (Start 0.6)
5.2 | 5.4 | 5.5 | 5.7
Class 20/18/15 due to ISO 4406

‘ 4,000

93 93 94 99
91 92 92 93

57 58 59 60
T=50°C

019 022 025
193 | 222 | 252
300 | 250 | 250
300 280
325 300
3.600
400 - 3,000
6.1 | 6.3 | 6.5
95 | 95 | o5
93 | 93 | o3
o | 62 | 63

Medium: HLP 46

*Measured in anechoic room of Eckerle Hydraulic Division; Axial microphone distance 1.0 m

** For acceptable pressure at 400-1.800 rpm. Further rpm on request.
*** Due to manufacturing tolerances the displacement volume could vary.




Internal gear pump
Type EIPH3 high pressure pump
with constant displacement volume

Characteristics

The new series EIPH were developed particularly for the high requirements of industrial
hydraulics. Their favourable noise characteristic, extremely low delivery and pressure
pulsation, outstanding efficiency within broad revolution and viscosity ranges, have firmly
established gap-compensated high pressure internal gear pumps among high pressure
pumps. Simple combinability to multiple pumps with separate or common inlet is given.

The EIPH is a consistent advancement that already for over 40 years in the industry used
gap-compensated internal gear pump technology, System Eckerle.

Technical Data:

Rated Size NG 014 016 020 025 032 040 050 064

Spec. volume Vth [cm?/rev.]** 14.6 16.0 20.0 24.8 32.1 40.1 50.3 64.6

Continuous operating pressure [bar]** 330 250

Peak operating pressure [oar]max.10sec.15% dutycycle*™ 350 300 280

Cut-in pressure peak [bar]** 400 325 300

Max. speed [rpm] 4,000 3,000 2,500 1,800

Nominal speed [rpm] 400 - 3,600 ‘ 400 - 2,800 400 — 2,200, 400-1,800

Operating viscosity [mm2/s] 10 - 300

Starting viscosity [mm?/s] 2,000

Operating medium HL — HLP DIN 51 524 part 1/2

Max. medium temperature [°C] 80

Min. medium temperature [°C] -20

Max. ambient temperature [°C] 80

Min. ambient temperature [°C] -20

Max. admission pressure (intake side) [bar] 2 bar absolute

Min. admission pressure (intake side) [bar] 0.8 bar absolute (Start 0.6)

Weight appr. [kg] 13.1 | 13.2 | 13.4 | 135 | 13.7 | 164 | 175 | 195

Degree of filtration Class 20/18/15 due to ISO 4406

Efficiency nvol 91 92 93 93 94 95 95 95

Efficiency nhm 90 90 91 92 92 93 93 93

Pump noise*

(measured in sound chamber) dB[A] 60 61 62 63 64 65 66 66
n=1.450 Ap =250 bar T=50°C Medium: HLP 46
*Measured in anechoic room of Eckerle Hydraulic Division; Axial microphone distance 1.0 m

** For acceptable pressure at 400-1.800 rpm. Further rpm on request.
*** Due to manufacturing tolerances the displacement volume could vary.




Internal gear pump
Type EIPH6 high pressure pump
with constant displacement volume

Technical Data:

Rated Size NG 040 050 064 080 100 125 160 200 250
Spec. volume Vth [cm®/rev.]*** 40.8 50.6 65.3 80.0 | 101.2 | 125.7 | 160.1 | 200.9 | 249.9
Continuous operating pressure [bar]** 330 315 300 280 250 210
Peak operating pressure [bar] max. 10sec 15% dutycycle** 340 330 330 300 270 250
Cut-in pressure peak [bar]** 350 340 340 320 300 250
Max. speed [rpm] 2.400 2.200 2.000
Nominal speed [rpm] 400 - 2,200 400 - 2,000 400 - 1,800
Operating viscosity [mm2/s] 10-300
Starting viscosity [nm?/s] 2.000
Operating medium HL — HLP DIN 51 524
Max. medium temperature [°C] 80
Min. medium temperatur [°C] -20
Max. ambient temperature [°C] 80
Min. ambient temperature [°C] -20
Max. admission pressure (intake side) [bar] 2 bar absolute
Min. admission pressure (intake side) [bar] 0,8 bar absolute
Weight appr. [Kg]: 23 | 25 | 28 | 31 | 36 | M5 | 49 | 58 | 69
Degree of filtration Class 20/18/15 due to I1SO 4406
Efficiency nvol 96 | 96 | 96 | 95 | 95 | 94 | 94 | 93 | 93
Efficiency nhm 89 90 91
Pump noise* 72 | 73 | 74 | 75 | 76 | 76 | 77 | 77 | 78
(measured in sound chamber) dB[A]
n=1.450 Ap = 250 bar T=50°C Medium: HLP 46
*Measured in anechoic room of Eckerle Hydraulic Division; Axial microphone distance 1.0 m

** For acceptable pressure at 400-1,800 rpm. Further rpm on request.
*** Due to manufacturing tolerances the displacement volume could vary.




Pump with SAE-A-2-hole flange and cylindrical shaft Order example: EIPH2- _ _ _RKO03-1X
A
F G 41, 195 A/2 " 23 direction of rotation
36 o
// )
. T shaft end
p é (W ‘S 25 ] e }4‘; e 6 hy
<= —— O |5 i
T N R N
w ﬁk“‘ 0 0
w 2 20 4
| I
1= .
5 17.5 0.2
95
NG A F G H L M N 0 ﬁs
004 71 50 54 57 381 175 14 M8x15
005 71 50 54 57 381 175 14  M8x15 suction port
006 73 50 54 57 475 22 19  M10x16 9
o o
008 76 50 54 57 475 22 19  M10x16 o
011 82 50 54 57 524 262 25 M10x17 M
013 87 50 54 57 524 262 25 M10x17 o
016 92 50 54 57 524 262 25 M10x17 M w02
019 99 55) 59 62 524 262 25 M10x17
022 105 55 59 62 524 262 25 M10x17
025 111 55 59 62 524 262 25 M10x17
Double Pump with SAE-A-2-hole flange and cylindrical shaft Order example: EIPH2- _ _ _RK00-1X+
EIPH2- _ _ _RP30-1X
A L&) A direction of rotation
F G 41 19.5 A/2 A/2 23

.

54

655

95 ’ 225 ’ 88255 1o
NG A F G H ﬁ g‘;" 2l
04 71 50 54 57 s

005 71 50 54 57

Common suction port
006 73 50 54 57 pump size NG 004-016  pump size NG 019-025
008 76 50 54 57 7
A7 w10 3

011 8 50 54 57 y0
o o, o

013 8 50 54 57 :
016 92 50 54 &7 &@ X &@ :
019 99 5 59 62 o o

U
022 105 55 59 62 2022 2022

025 111 55 59 62  Pressure connections see single pumps




Pump with SAE-B-2-hole flange and cylindrical shaft Order example: EIPH3- _ _ _RK23-1X
A
56 26 A/2 34 direction of rotation
F ] 48 ,
- . 1 1 MO D— shaft ;:rld
o
P 3
4= - H g !
— — - —— i | uﬁ Y N ¥ L T
o O b 2 a
X | D_ 6]
6 | %,_ |C w0z | 2 1016 1
3] %6

L 170
s

NG A B H D E F G H K L M N 0
014 904 381 17,5 M8x15 14 64 65 67 57 52,4 262 25 MI10x17

016 924 381 17,5 M8x15 14 64 65 67 57 524 262 25 M10x17 suction pono
020 979 475 22 Mi0x17 18 64 65 67 57 58,7 302 32 M10x17 0 o —
025 1044 475 22 M10x17 18 64 65 67 57 587 30,2 32 M10x17 @ﬁ "
032 1144 475 22 M10x17 18 64 65 67 57 58,7 302 32 MI10x17 -
040 1254 52,4 26,2 M10x17 20 70 73 79 63 58,7 302 32 M10x20 ?M—O

050 1394 524 262 M10x17 20 70 73 79 63 58,7 30,2 32 M10x20

Double Pump with SAE-B-2-hole flange and cylindrical shaft Order example: EIPH3- _ _ _RK20-1X+
EIPH3- _ _ _RP30-1X

direction of rotation

56 26 A2 A2 34

shaft end
8 he

[
il :
6.5
o 4 el]
o O]
|
|
\
o Lol
o U]
28

135

||6.5

NG A F G H K Common suction port
014 90,4 64 65 67 57 pump size NG 014-032 pump size NG 040-050

016 924 64 65 67 57 @ A
‘,\'(1« ‘,\'\’L

020 979 64 65 67 57 o ) & _

025 1044 64 65 67 57 3

032 1144 64 65 67 57 Qy@ % oL

040 1254 70 73 79 63 Q@ P 99

050 139,4 70 73 79 63 Pressure connections see single pumps

77.8 w02




Double Pump with SAE-B-2-hole flange and cylindrical shaft Order example: EIPH3- _ _ _RK20-1X+
EIPH2- _ _ _RP30-1X

A 66 AA
56 26 A/2 AA/2 23
48 ] direction of rotation
=
R shaft end
36 =4 K 8 1o
_ ° e ole P
= D
=aee o || : -
= [ «w o0
I QO 7 025, R
] D — o
- T
| oo 3
HEE 33
{Is
EIPH3 EIPH2 £ :
N A F G H K N6 AA FF GG HH o= =

014 904 64 65 67 57 004 N 50 54 57

016 924 64 65 67 57 005 71 50 54 57
020 979 64 65 67 57 006 73 50 54 57 M ES
025 1044 64 65 67 57 008 76 50 54 57 <
032 1144 64 65 67 57 011 82 50 54 57
040 1254 70 73 79 63 013 87 50 54 57 iy
050 1394 70 73 79 63 016 92 50 54 57
019 99 55 59 62 Q
022 105 55 59 62 —
Pressure connections see single pumps 025 111 55 59 62

suction portM ) <20
¥ ,@4_
10 !

D
4
35.7 w02

69.9 02




Pump with SAE-D-2-hole flange and cylindrical shaft Order example: EIPH6- _ _ _RK23-1X
A direction of rotation
95 .05 952 88 A/2 L 35
£0 é
a
3 70 L‘ shaft end
N a2
P i I 1
@ T % ):h A 9 S
. s 17 © O 0i0,
: _ i
‘iw: | C oz
ﬁ s
NG A B ¢ D E L M N 0 suction port
040 123 57,2 27,8 Mi2x22 20 699 357 35 Mi12x25 ® o
050 129 57,2 27,8 Mi12x22 20 69,9 357 40 M12x25 ol
064 138 57,2 27,8 Mi2x22 20 69,9 357 40 Mi12x25 @/ M

080 147 66,7 31,8 Mi14x25 30 778 429 50 Mi12x25
100 160 66,7 31,8 Mi14x25 30 77,8 429 50 M12x25
125 175 66,7 31,8 M14x25 30 77,8 429 50 M12x25
160 220 66,7 31,8 Mi14x25 30 889 50,8 65 M12x25
200 245 66,7 31,8 M14x25 38 839 50,8 70 Mi12x25
250 275 66,7 31,8 Mi14x25 38 106,3 62 70 M16x25 * Pressure port: SAE 518C, high pressure series (code 62)

M0z

Double Pump with SAE-D-2-hole flange and cylindrical shaft Order example: EIPH6- _ _ _RK20-1X+
EIPH6- _ _ _RP30-1X

A 10 A 72 direction of rotation
95 «05 95 «2 88 22, A/2 55, A/2
80 ‘

. — ‘ _‘F ' shaft end

P |- olo olo h 2
- 4 K N U ) | @)
1 if — o e & muciENZ q
9 = o [0 <} i o (=2 ]
N & L] n | 240 4
R ) Hi [—_4-]
{1s
C i rt

NG A ommon suc |onbpo ‘,\«e*f)
040 123 15}
050 129
064 138 T ¢
080 147 1ot
100 160
125 175
160 220
200 245

250 275 Pressure connections see single pumps




Dimension

Double Pump with SAE-D-2-hole flange and cylindrical shaft

95 05

FF

88

A

90 AA

Order example: EIPH6- _ _ _RK23-1X+
EIPH2- _ _ _RP30-1X

22| A2

AA/2

direction of rotation

80
R —— shaft end
N 70 )
P 3/ ® o olo { 52
- % 4 J i 090 0 o
A dll e o A LYl ee
N 240 4
N —
EA
EIPH6 EIPH2 ﬁs
NG A L M N 0 NG AA FF GG HH
040 123 69,9 357 35 Mi2x25 004 71 50 54 57 Common suction port
050 129 699 357 40 MI2x25 005 71 50 54 57 o ,ng
064 138 69,9 357 40 M12x25 006 73 50 54 57 3
080 147 77,8 429 50 M12x25 008 76 50 54 57 -
100 160 77,8 429 50 M12x25 011 82 50 54 57 M0z
125 175 77,8 429 50 M12x25 013 87 50 54 57
160 220 889 50,8 65 M12x25 016 92 50 54 57
200 245 889 50,8 70 Mi12x25 019 99 59) 59 62
250 275 106,3 62 70 M16x25 022 105 55 59 62
025 111 55 59 62  Pressure connections see single pumps
Double Pump with SAE-D-2-hole flange and cylindrical shaft Order example: EIPH6- _ _ _RK20-1X+
EIPH3- _ _ _RP30-1X
A 110 AA direction of rotation
88 22 A2 55 AA/Z 34
80 = D
N 70 ] [ g Shaﬂgf ° °
== 1} Doy 55
< JanY | Pan)
N < T - N +} % E I-
S N X ElIE S
= par N N
’ =LA P
) R ‘
ﬁ 5 2266
EIPH6 EIPH3
NG A NG AA FF GG HH KK Common suction port
040 123 014 90,4 64 65 67 57
050 129 016 924 64 65 67 57
064 138 020 979 64 65 67 57
080 147 025 1044 64 65 67 57
100 160 032 1144 64 65 67 57 fosd
125 175 040 1254 70 73 79 63
160 220 050 1394 70 73 79 63
200 245
250 275 Pressure connections see single pumps




Connecting flanges SAE

SAE flange metric tapped

F

SAE pipe threaded flange

Nr.
1a
1b
2a
2b
3a
3b
4a
4h
5a
5b
6b
7b
8a
9a

Article number
07 07 04 0030
07 07 04 0026
07 07 04 0031

07 07 04 0027
07 07 04 0032
07 07 04 0028
07 07 04 0033
07 07 04 0029
07 07 04 0037
07 07 04 0034
07 07 04 0036
07 07 04 0041

07 07 04 0042
07 07 04 0043

Type
AD15-SAE12M22x1,5
EFG1/2-SAE12
AD22-SAE34M30x2
EFG3/4-SAE34
AD28-SAE100M36x2
EFG1-SAE100
AD35-SAE114M45x2
EFG1 1/4-SAE114
AD42-SAE112M52x2
EFG1 1/2-SAE112
EFG2-SAE200

EFG2 1/2-SAE212
AD30-SAE100M42x2HD
AD38-SAE114M52x2HD

Pmax
315
350
160
350
160
315
160
250
160
200
200
160
400
400

AD
15

22

28

35

42

30
38

Version a

G2

A
M22x1.5
G1/2"
M30x2
G3/3"
M36x2
G1"
M45x2
G11/4"
M52x2
G11/2"
G2"
G2 1/2"
M42x2
M52x2

Version b

B
12
13

38.1
38.1
47.63
47.63
52.37
52.37
58.72
58.72
69.85
69.85
77.77
88,9
57.2
79.38

- =i
S
i
D E
54 17.48
54 17.48
65 2223
65 2223
70 2619
70 26.19
79 3018
79 3018
94 3571
94 3571
102 42.88
114 508
81 278
113 365

105
70
95

G1
52
36
60
36
63
38
65
41
70
45
45
50
82
96

G2
60

69

72

76

82

95
111

13
19
14
18
16
18
14
21
16
25
25
25
24
30

19
7.5
19
7.5
22
10.5
22
11
24
30
30
13.5
16

11.5
11
11.5
11
11,5
11.5
13.5
13.5
13.5
13.5

17.5




Connecting flanges SAE

SAE Pressure- and Suction flange SAE J518C, ISO 6162

Inlet Nr.  Version Outlet Nr. Version
Type a b a b
EIPH2-004-005  1/2" 1 ° o 1/2" 1 o o
EIPH2-006-008  3/4" 2 ° ° 1/2" 1 ° °
EIPH2-011-025 1" 3 o o 1/2" 1 o o
EIPH3-014-016 1" 3 ° ° 1/2" 1 ° °
EIPH3-020-032 11/4" 4 o o 3/4" 2 o o
EIPH3-040-064 11/4" 4 o ° 1" 3 o o
EIPH6-040-064 11/2" 5 o o 1" 8 o
EIPH6-080-125 2" 6 o 11/4" > 9 o
EIPH6-160 212" 7 o 11/4"* 9 o

*High pressure range

Suction flange for Intermediate housing

Inlet Nr.  Version
Type a b

EIPH2/2 - NGO16 1" 3 o o
EIPH2/2 ab NGO191 1/4" 4 o U
EIPH3/3 bis NG0321 1/2" 5 J o
EIPH3/3 ab NG040 2" 6 o
EIPH6/6 o o
EIPH6/3 o
EIPH6/2 o o

e = gvailable o= on request




Ordering Code

EIPH2-016 RK03-10 S123

Order example

EIPH2 - 016 RKO3 - 1X

High pressure pump

overall size 2 with 15,8 cm*/U
clockwise rotation

cylindrical shaft with cone
SAE/B-2-hole flange connection
SAE flange connection

revision code 1X

Special version number (not applicable with standard pumps or when the
type key is unambiguous)

Revision code 1st number: Change of mounting dimensions
2nd number: Change of pump with same mounting dimensions

Intake and delivery connection 3: SAE-flange connections
— other flanges on request —
0: suction port closed; common inlet

Fastening flange 0: SAE/A 2-hole flange, centre-@ 82.55
2: SAE/B 2-hole flange, centre-@ 101.6
2: SAE/D 2-hole flange, centre-@ 152.4 at EIPH 6
3: Direkt fixture
5: VDMA on demand
— other flanges on request —

Shaft end K: Cylindrical with cone
P: Cone tooth system on both sides

cone is standard;
(cone = add-on facility for additional pumps to create multiple-flow pumps)

Sense of rotation R: Clockwise
L: Anticlockwise

Rated size, three digits
Overall size 2 or 3 or 6
Type H: High pressure pump

Eckerle internal gear pump

ECHERLE

HYDRAULIC DIVISION

Eckerle Industrie-Elektronik GmbH - P.0. box 1368
Otto-Eckerle-Str. 6/12A - D-76316 Malsch

Phone: +49 (0) 72 46/92 04-0 - Fax: +49 (0) 72 46/92 04-946
sales.ehd@eckerle.com - www.eckerle.com

All indicated data serve alone the product description and are not as characteristics in the legal sense to be understood. Subject to alterations.

0202010183/U&P/0110




<<
  /ASCII85EncodePages false
  /AllowTransparency false
  /AutoPositionEPSFiles true
  /AutoRotatePages /All
  /Binding /Left
  /CalGrayProfile (Dot Gain 20%)
  /CalRGBProfile (sRGB IEC61966-2.1)
  /CalCMYKProfile (Coated FOGRA27 \050ISO 12647-2:2004\051)
  /sRGBProfile (sRGB IEC61966-2.1)
  /CannotEmbedFontPolicy /Warning
  /CompatibilityLevel 1.4
  /CompressObjects /Tags
  /CompressPages true
  /ConvertImagesToIndexed true
  /PassThroughJPEGImages true
  /CreateJobTicket false
  /DefaultRenderingIntent /Default
  /DetectBlends true
  /DetectCurves 0.0000
  /ColorConversionStrategy /sRGB
  /DoThumbnails false
  /EmbedAllFonts true
  /EmbedOpenType false
  /ParseICCProfilesInComments true
  /EmbedJobOptions true
  /DSCReportingLevel 0
  /EmitDSCWarnings false
  /EndPage -1
  /ImageMemory 1048576
  /LockDistillerParams false
  /MaxSubsetPct 100
  /Optimize true
  /OPM 1
  /ParseDSCComments true
  /ParseDSCCommentsForDocInfo true
  /PreserveCopyPage true
  /PreserveDICMYKValues true
  /PreserveEPSInfo true
  /PreserveFlatness false
  /PreserveHalftoneInfo false
  /PreserveOPIComments false
  /PreserveOverprintSettings true
  /StartPage 1
  /SubsetFonts true
  /TransferFunctionInfo /Apply
  /UCRandBGInfo /Preserve
  /UsePrologue false
  /ColorSettingsFile ()
  /AlwaysEmbed [ true
  ]
  /NeverEmbed [ true
  ]
  /AntiAliasColorImages false
  /CropColorImages false
  /ColorImageMinResolution 300
  /ColorImageMinResolutionPolicy /OK
  /DownsampleColorImages true
  /ColorImageDownsampleType /Bicubic
  /ColorImageResolution 150
  /ColorImageDepth -1
  /ColorImageMinDownsampleDepth 1
  /ColorImageDownsampleThreshold 1.50000
  /EncodeColorImages true
  /ColorImageFilter /DCTEncode
  /AutoFilterColorImages true
  /ColorImageAutoFilterStrategy /JPEG
  /ColorACSImageDict <<
    /QFactor 0.76
    /HSamples [2 1 1 2] /VSamples [2 1 1 2]
  >>
  /ColorImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /JPEG2000ColorACSImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /JPEG2000ColorImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /AntiAliasGrayImages false
  /CropGrayImages false
  /GrayImageMinResolution 300
  /GrayImageMinResolutionPolicy /OK
  /DownsampleGrayImages true
  /GrayImageDownsampleType /Bicubic
  /GrayImageResolution 150
  /GrayImageDepth -1
  /GrayImageMinDownsampleDepth 2
  /GrayImageDownsampleThreshold 1.50000
  /EncodeGrayImages true
  /GrayImageFilter /DCTEncode
  /AutoFilterGrayImages true
  /GrayImageAutoFilterStrategy /JPEG
  /GrayACSImageDict <<
    /QFactor 0.76
    /HSamples [2 1 1 2] /VSamples [2 1 1 2]
  >>
  /GrayImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /JPEG2000GrayACSImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /JPEG2000GrayImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /AntiAliasMonoImages false
  /CropMonoImages false
  /MonoImageMinResolution 1200
  /MonoImageMinResolutionPolicy /OK
  /DownsampleMonoImages true
  /MonoImageDownsampleType /Bicubic
  /MonoImageResolution 300
  /MonoImageDepth -1
  /MonoImageDownsampleThreshold 1.50000
  /EncodeMonoImages true
  /MonoImageFilter /CCITTFaxEncode
  /MonoImageDict <<
    /K -1
  >>
  /AllowPSXObjects false
  /CheckCompliance [
    /None
  ]
  /PDFX1aCheck false
  /PDFX3Check false
  /PDFXCompliantPDFOnly false
  /PDFXNoTrimBoxError true
  /PDFXTrimBoxToMediaBoxOffset [
    0.00000
    0.00000
    0.00000
    0.00000
  ]
  /PDFXSetBleedBoxToMediaBox true
  /PDFXBleedBoxToTrimBoxOffset [
    0.00000
    0.00000
    0.00000
    0.00000
  ]
  /PDFXOutputIntentProfile ()
  /PDFXOutputConditionIdentifier ()
  /PDFXOutputCondition ()
  /PDFXRegistryName ()
  /PDFXTrapped /False

  /CreateJDFFile false
  /Description <<

    /BGR <>
    /CHS <FEFF4f7f75288fd94e9b8bbe5b9a521b5efa7684002000500044004600206587686353ef901a8fc7684c976262535370673a548c002000700072006f006f00660065007200208fdb884c9ad88d2891cf62535370300260a853ef4ee54f7f75280020004100630072006f0062006100740020548c002000410064006f00620065002000520065006100640065007200200035002e003000204ee553ca66f49ad87248672c676562535f00521b5efa768400200050004400460020658768633002>
    /CHT <FEFF4f7f752890194e9b8a2d7f6e5efa7acb7684002000410064006f006200650020005000440046002065874ef653ef5728684c9762537088686a5f548c002000700072006f006f00660065007200204e0a73725f979ad854c18cea7684521753706548679c300260a853ef4ee54f7f75280020004100630072006f0062006100740020548c002000410064006f00620065002000520065006100640065007200200035002e003000204ee553ca66f49ad87248672c4f86958b555f5df25efa7acb76840020005000440046002065874ef63002>
    /CZE <>
    /DAN <>
    /DEU <>
    /ENU (Use these settings to create Adobe PDF documents for quality printing on desktop printers and proofers.  Created PDF documents can be opened with Acrobat and Adobe Reader 5.0 and later.)
    /ESP <>
    /ETI <>
    /FRA <>
    /GRE <>

    /HRV <>
    /HUN <>
    /ITA <>
    /JPN <>
    /KOR <FEFFc7740020c124c815c7440020c0acc6a9d558c5ec0020b370c2a4d06cd0d10020d504b9b0d1300020bc0f0020ad50c815ae30c5d0c11c0020ace0d488c9c8b85c0020c778c1c4d560002000410064006f0062006500200050004400460020bb38c11cb97c0020c791c131d569b2c8b2e4002e0020c774b807ac8c0020c791c131b41c00200050004400460020bb38c11cb2940020004100630072006f0062006100740020bc0f002000410064006f00620065002000520065006100640065007200200035002e00300020c774c0c1c5d0c11c0020c5f40020c2180020c788c2b5b2c8b2e4002e>
    /LTH <>
    /LVI <>
    /NLD (Gebruik deze instellingen om Adobe PDF-documenten te maken voor kwaliteitsafdrukken op desktopprinters en proofers. De gemaakte PDF-documenten kunnen worden geopend met Acrobat en Adobe Reader 5.0 en hoger.)
    /NOR <>
    /POL <>
    /PTB <>
    /RUM <>
    /RUS <>
    /SKY <>
    /SLV <>
    /SUO <>
    /SVE <>
    /TUR <>
    /UKR <>
  >>
  /Namespace [
    (Adobe)
    (Common)
    (1.0)
  ]
  /OtherNamespaces [
    <<
      /AsReaderSpreads false
      /CropImagesToFrames true
      /ErrorControl /WarnAndContinue
      /FlattenerIgnoreSpreadOverrides false
      /IncludeGuidesGrids false
      /IncludeNonPrinting false
      /IncludeSlug false
      /Namespace [
        (Adobe)
        (InDesign)
        (4.0)
      ]
      /OmitPlacedBitmaps false
      /OmitPlacedEPS false
      /OmitPlacedPDF false
      /SimulateOverprint /Legacy
    >>
    <<
      /AddBleedMarks false
      /AddColorBars false
      /AddCropMarks false
      /AddPageInfo false
      /AddRegMarks false
      /BleedOffset [
        0
        0
        0
        0
      ]
      /ConvertColors /ConvertToRGB
      /DestinationProfileName ()
      /DestinationProfileSelector /DocumentRGB
      /Downsample16BitImages true
      /FlattenerPreset <<
        /PresetSelector /MediumResolution
      >>
      /FormElements false
      /GenerateStructure true
      /IncludeBookmarks true
      /IncludeHyperlinks true
      /IncludeInteractive true
      /IncludeLayers false
      /IncludeProfiles false
      /MarksOffset 6
      /MarksWeight 0.250000
      /MultimediaHandling /UseObjectSettings
      /Namespace [
        (Adobe)
        (CreativeSuite)
        (2.0)
      ]
      /PDFXOutputIntentProfileSelector /NA
      /PageMarksFile /RomanDefault
      /PreserveEditing true
      /UntaggedCMYKHandling /UseDocumentProfile
      /UntaggedRGBHandling /UseDocumentProfile
      /UseDocumentBleed false
    >>
    <<
      /AllowImageBreaks true
      /AllowTableBreaks true
      /ExpandPage false
      /HonorBaseURL true
      /HonorRolloverEffect false
      /IgnoreHTMLPageBreaks false
      /IncludeHeaderFooter false
      /MarginOffset [
        0
        0
        0
        0
      ]
      /MetadataAuthor ()
      /MetadataKeywords ()
      /MetadataSubject ()
      /MetadataTitle ()
      /MetricPageSize [
        0
        0
      ]
      /MetricUnit /inch
      /MobileCompatible 0
      /Namespace [
        (Adobe)
        (GoLive)
        (8.0)
      ]
      /OpenZoomToHTMLFontSize false
      /PageOrientation /Portrait
      /RemoveBackground false
      /ShrinkContent true
      /TreatColorsAs /MainMonitorColors
      /UseEmbeddedProfiles false
      /UseHTMLTitleAsMetadata true
    >>
  ]
>> setdistillerparams
<<
  /HWResolution [2400 2400]
  /PageSize [612.000 792.000]
>> setpagedevice


